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QUESTION 1

You are responsible for a Microsoft based network. Your servers are all clustered. Which of the following are the likely
reasons for the clustering? Each correct answer represents a complete solution. Choose two.

A. Reduce power consumption
B. Ease of maintenance

C. Load balancing

D. Failover

Correct Answer: CD

QUESTION 2

What is the term for a game in which for every win there must be an equivalent loss?
A. Asymmetric

B. Untenable

C. Zero-sum

D. Gain-oriented

Correct Answer: C

QUESTION 3

When discussing access controls, which of the following terms describes the process of determining the activities or
functions that an Individual is permitted to perform?

A. Authentication
B. Identification
C. Authorization
D. Validation

Correct Answer: C

QUESTION 4
Which of the following is a Layer 3 device that will typically drop directed broadcast traffic?

A. Hubs
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B. Bridges
C. Routers
D. Switches

Correct Answer: C

QUESTION 5

Which of the following is the reason of using Faraday cage?
A. To prevent Denial-of-Service (DoS) attack

B. To prevent shoulder surfing

C. To prevent mail bombing

D. To prevent data emanation

Correct Answer: D
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